Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER - IV « EXAMINATION - WINTER 2012

Subject code: 341902 Date: 27/12/2012
Subject Name: Metrology and Instrumentation
Time: 02.30 pm - 05.00 pm

Instructions:

Total Marks: 70

1. Attempt any five questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
Q.1 (&) Explain the working of micrometer with neat sketch and write its 07
applications.
(b) Differentiate 07
(1) Metrology & Inspection (2) Centralized & Decentralized
inspection (3) Line standard & End standard
Q.2 (&) Select slip gauges set from following available of M 112/1 set to 07
obtain dimensions of (1) 79.7955 mm (2) 99.9995 mm
Dimension-mm Increment-mm Numbers
1.0005 - 1
1.001 - 1.009 0.001 9
1.01-1.49 0.01 49
0.5-245 0.5 49
25-100 25 4
112
(b) Explain the working principle of sine bar with neat sketch. State its 07
precautions in the use of it.
OR
(b)  Sketch mechanical bevel protector and state the name of its parts. 07
Explain least count of it.
Q.3 (&) Explain “V’ Block and dial indicator method of roundness testing. 07
(b) Explain 07
(1) Roughness (2) Root Mean Square value (RMS)
(3) Centre line Average method (CLA).
OR
Q.3 (a) List the different methods for measurement of effective diameter of 07
thread and explain with sketch any one of them.
(b) Explain the working principle of gear tooth vernier caliper with neat 07
sketch.
Q.4 (a) Write short notes. 07
(1) Pluge Gauge (2) Ring Gauge (3) Gauge Materials
(b) List & Explain static characteristics of measuring instruments. 07
OR
Q.4 (a) State the types of transducers and explain any one of its with neat 07
sketch and state its application.
(b) Explain the principle of operation, construction and working of 07

thermo couple with neat sketch.
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Explain working of bourdon tube pressure gauge with neat sketch
and write its advantages.
Short notes.
(1) Pitot tube (2) venturimeter

OR
Explain closed loop system for automatic control with figure.
Describe procedure for calibration of vernier caliper.
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Vaa[ kaI3r nl SvCO Askit dael tel kalRoi2it sm=vie Anetea>|pyagie

Igee
thavt Aipae

IEY mgadae Ane[NSplexn

Il Na[n S3dDR AneA®(END) S3DR

M 112/1 na>séma#l nicessmap ma3eShipgg nkkl krae

(1) 79.7955 mm (2) 99.9995 mm

UEY skgla[zD AneDIsk§la[zD [NSpkxn

Dimension-mm Increment-mm Numbers
1.0005 - 1
1.001 - 1.009 0.001 9
1.01-1.49 0.01 49
05-245 0.5 49
25 -100 25 4
112

si[nbar nl SVC0 Aakit dael teaekaiRisi2ie sm=vae teae]pyag krtl
vatelel pDtl savcElAsg) ~avae
Advy
mikenkl blvé pi@k3r nl SvCO Aakit dael tes wagaej ~avl 16TEm map
nl rit sm=vae
ra]Ji\Dne 383Ig ma3evi-Blake Anedayl [NDIkér nl rit Aakit dael
sm=vae
VyaQya Aapl sm=vae
(1) rfne (2) %3 min Skve veyURMS)
(3) sk&l 13[n Aerg mdD (CLA).
Advi
4Bnax{ fle3lv Dayaml3r mapva>ma3el jdi jdi ritaej ~avl gmeteAk rit
Aakit dael sm=vae
glyr 3d vinix kdpB nl SvC0 Aikit dael teaekaiRoi2it sm=vae
3 nae 1gae
(1)Plg 9g (2) rig g¢ (3) g¢ m3lrlyls
merig [NSSmk8sna>S4ayl 19 ~aenl yadl 1gqeeAnesm=vie
Advy
SisDyssRapkar 1gl gmeteAk Akt diel sm=vI tea>]pyagiel qae
Amap 1 naekaiRisi2ak, rcna AnekaiRoi2it Askit dael sm=vie

biBR 3yb psr g¢ nl SvCO Aakit dael kaypi2it sm=vl tes>fayda 1qee
nae 1gae
(1) pl3s& 3yb (2) vi€yd mI3r

Advi
Svyseiilt iny# pi2it ma3eklazD 1P pi2it Askit diel sm=vie
VinRr ke pr na>kd b&nnl pi2it v Re
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